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1. The Portuguese contributed many things to Kerala. In the following, which one is
not a contribution of the Portuguese ?

i) They promoted scientific cultivation of pepper and ginger.
ii) They founded theological seminaries and colleges at Cochin, Angamali and
Vaipincotta.
iii) They built the Bolgatty Palace at Kochi.
iv) They introduced new agricultural products like tobacco, pineapple, papaya etc.
A) i B) ii C) iii D) iv
2. Some of the administrative reforms of Rani Sethu Lakshmi Bai of Travancore is
given. Arrange them in Chronological order.
i) Abolished Devadasi System.
ii) The city of Thiruvananthapuram was illuminated with electric lights.
iii) Animal sacrifice was banned.
iv) Introduced patrilineal nuclear family system.
A) i, ii, i, iv B) iii, i, iv, ii C) i, iii, i, iv D) i, iv, iii, i
3. Match the following Presidents of the Indian National Congress with the years of
their Presidentship :

List -1 List -1l

a) Hakim Ajmal Khan 1) 1924

b) Abul Kalam Azad 2) 1921

c) Mahatma Gandhi 3) 1931

d) Vallabhbhai Patel 4) 1923

A)a-1,b-3,c-2,d-4 B)a-3,b-1,c—-4,d-2
C)a-4,b-38,c—-1,d-2 D)a-2,b-4,c-1,d-3

4. The Indian News Papers and its founders are given below. Find the incorrect pair

from them.

James Augustus Hicky
Raja Ram Mohan Roy

1) Bengal Gazette
2) Samvad Kaumudi

3) Hindu Patriot — Madhusudan Ray
4) Mirat-Ul-Akbar —  Firoz Shah Mehta
A) 1 B) 2 C) 3 D) 4
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5. Assertion (A) : China announced ‘Panda Diplomacy’ with the USA and Europe, as
symbols of friendship and goodwill by gifting Pandas.

Reason (R) : China announced ‘Ping Pong Diplomacy’ to establish official
diplomatic relations with the USA and sent Table Tennis Teams.

A) Both Assertion (A) and Reason (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

C) (A) is true and (R) is false

D) (A) is false and (R) is true

6. “Jana Shakti : A Collective Power”, a thematic exhibition held at the National Gallery
of Modern Art in Delhi, in May 2023. Which statement(s) is/are incorrect regarding
that ?

i) It marked the 150" episode of the ‘Mann Ki Baat’, monthly radio broadcast
programme of the Prime Minister.

ii) The exhibition celebrates the artistic diversity of India.
iii) The “Swachh Bharat” theme was depicted as ‘A Art’ and exhibited there.
iv) Artistic representation of 20 themes were exhibited there.

A) iandiv B) ii and iii C) iandii D) iiiand iv
7. Which among the following is not a part of West Coastal Plain of India ?

A) Konkan Plain B) Kathiawar Peninsula

C) Kachchh Plain D) Utkal Plain

8. Find out the wrong statement about Westerlies.
A) These winds blow from North-west to South-east in Southern Hemisphere.
B) They blow opposite to the trade winds.

C) These winds blow as roaring forties between the latitudes of 40 degrees to
50 degrees in Northern Hemisphere.

D) The effect of these winds is broken in Eastern Asia by the monsoon.

9. The thickness of ozone concentration in a column of air is recorded in
A) Dobson unit B) Lux
C) Beaufort scale D) Parts per thousand

10. Identify the true statements about the interior structure of earth.
i) Core is the deepest and most inaccessible zone.
ii) Mantle is mainly composed of iron and nickel.
iii) Mohorovic discontinuity separates lower crust from mantle.
iv) The average density of the outer crust is 12.3.
A) iandiii B) iiiand iv C) ii and iii D) iandiv
A -4-
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11.

Which among the following is not a tributary of Chalakkudy River ?
A) Kuriarkutty B) Sholayar C) Kothayar D) Karappara

12. ldentify the scientific satellite launched by ISRO on January 1, 2024 to carry out the

13.

14.

15.

research in space based polarization measurements of x-ray emission from celestial
sources.

A) DS-SAR B) XPoSat C) Aditya-L1 D) RISAT-2BR1

Which of the following statement(s) is/are correct about development banks as
gap fillers in the economy ?

i) Catalysts of industrial development.

ii) Provide channels of capital, enterprise and management.

iii) Offers medium-term, long-term, and short-term finance to entrepreneurs.
iv) Offer a package of financial and non-financial assistance.

A) Only (i and iii) B) Only (iii and iv)

C) Only (i, ii and iv) D) All of the above (i, ii, iii and iv)
WTO terminology : agricultural subsidies are identified as boxes. So human
development issues in developing countries come under

A) Blue Box and S&D Box B) Green Box and Amber Box
C) Green Box D) S&D Box

Which of the following statements are correct about registered taxpayers under GST ?
i) E-payment can be done through cards and UPI.
ii) Registration is to be given by the central tax authority on a common e-application.

iii) A person having multiple businesses in a State may obtain separate registrations
for each business.

A) Only (i and iii) B) Only (i and ii)
C) Only (ii and iii) D) All of the above (i, ii and iii)

16. The introduction of new economic policy in the Indian economy has accepted the
challenges of facing globalization in India. Which statement is correct about the
devaluation of the Indian rupee to make international adjustments ?

i) Nearly 20 percent.
i) Between 5 percent to 15 percent.
iii) More than 20 percent.

A) Only (i and ii) B) Only (i) C) Only (iiandii) D) Only (i and iii)
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17.

In which committee recommendations were the major changes in direct and indirect
tax policies in India accepted ?

A) Chelliah Committee B) Narasimham Committee
C) Sen Committee D) Kelkar Committee
18. The most difficult task of modern Indian planning is
A) Plan preparation B) Target fixation
C) Mobilisation of financial resources D) None of these

19.

20.

21.

22.

Which one of the following statement is not correct about Fundamental Rights ?
A) Fundamental Rights are justiciable in character.

B) Fundamental Rights are enumerated in Part 11l of Indian Constitution.

C) Right to Property is not a Fundamental Right.

D) Article 51-A deals with Right to Education.

Match the following :

1) Article 356 a) Presidents Rule in States
2) Article 325 b) Universal Adult Franchise
3) Article 76 c) Attorney General of India
4) Article 368 d) Amendment procedure of Constitution
Select the correct codes from below.
1 2 3 4

A)a b ¢ d
B)a ¢ d b
C)c a b d
D)d b ¢ a

Identify the correctly matched facts below.
1) 44" Constitutional Amendment Act
2) 86" Constitutional Amendment Act
3) 42" Constitutional Amendment Act Mini Constitution
4) 91 Constitutional Amendment Act Anti defection Law
A) Only (1) B) Only (1) and (2)
C) Only (1), (2) and (3) D) All are correct

In which Constitutional Amendment Act reserves one-third of all seats for women in
Lok Sabha, State Legislative Assemblies and Legislative Assembly of the National
Capital Territory of Delhi ?

A) Constitution 106" Amendment Act, 2023

B) Constitution 104" Amendment Act, 2019

C) Constitution 101t Amendment Act, 2016

D) Constitution 103 Amendment Act, 2019

-8-
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23. Which of the following statement(s) is/are correct in relation to the Judgement of
Electoral Bond Scheme Case ?

1) On February 2024 Supreme Court struck down Electoral Bond Scheme as
unconstitutional.

2) The Electoral Bond Scheme violates the right to information and freedom of
speech and expression under Article 19 (1) (a) of Indian Constitution.

3) The court rules that the Amendment to the Companies Act which allows blanket
corporate political funding is unconstitutional.

A) Only (1) B) Only (1) and (2) C) Only (2) D) All of the above

24. Which one of the following statement is correct about Elections in India ?

A) The Election Commission of India is appointed by the Chief Justice of Supreme
Court.

B) Articles 324 to 329 of Part XV of the Constitution lays out the legal-constitutional
framework for holding elections in India.

C) Articles 352 to 360 of Part XVIII also deals with Election framework in India.
D) There are five full time Commissioners in Election Commission of India.

25. Consider the following statements related with Kerala Administrative Service (KAS)
and find out which of these are true.

1) The objective of KAS is to build a cadre of public servants as a second line of
managerial talent for Government for effective implementation of Government
Policies and Programmes.

2) KAS consist of — KAS Officer (Junior Time Scale) KAS Officer (Selection Grade
Scale) KAS Officer (Super Time Scale) — Officers.

3) An Officer joining the KAS shall start his career in the Junior Time Scale Trainee
in the State Service.

A) Only (1) B) Only (2)
C) All of these are correct D) Only (2) and (3)
26. Primary objective of ‘The Kerala Stay of Eviction Proceedings Act, 1957’ was
A) To provide agricultural assistance to cultivators
B) To give relief to Janmis
C) To give compensation to Landlords who loss land due to agricultural reforms
D) To stay eviction of tenants, kudikidappukars and certain other classes of persons
cultivating land
27. Which of the following statement(s) is/are correct about Kudumbasree ?
1) Kudumbasree was set up in 1997.

2) Kudumbasree has a three tier setup for its women community network with
NHGs, ADS and CDS.

3) Kudumbasree is the poverty eradication and women empowerment programme
implemented by the State Poverty Eradication Mission of Government of Kerala.

A) All of the above B) Only (2) and (3) C) Only (1) and (2) D) Only (2)
A -10-
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28.

29.

30.

31.

32.

33.

34.

Kerala State Disaster Management Authority is a statutory non-autonomous body
under the Chairmanship of the

A) Governor of Kerala B) Chief Minister of Kerala
C) Commissioner KSDMA D) DGP of Kerala Fire Force

Which one of the following statement is not true about AKSHAYA ?

A) The mission of Akshaya is to bridge the gap between the ‘information rich and the
information poor’.

B) Akshaya provides a platform for Government to citizen services through a public-
private partnership.

C) It serve as an agency of recruitment for local self government.

D) Akshaya provide efficient, transparent and convenient services to the citizens
through ICT.

Protection of Women from Domestic Violence Act passed by the Parliament in the year

A) 2005 B) 2006 C) 2004 D) 2007

Match the following :

1) XI™ Schedule of Constitution a) List of functions to be performed by Municipalities

)

2) Xl Schedule of Constitution b) List of functions to be performed by PRI’s
3) Article 243 A c) State Election Commission
4) Article 243 K d) Gramasabha

1 2 3 4
A)c d b a
B)b d a c¢
C)a b ¢ d
Db a d c¢

Which bill of the Kerala Legislature got assent from President of India that reserved
and referred to the presidential assent by the Kerala Governor in the year 2023 ?

A) Kerala University Laws (Amendment) Bill, 2022
B) University Law Amendment Bill, 2022

C) The Kerala Lokayukta (Amendment) Bill, 2022
D) University Law Amendment Bill, 2021

writ is a judicial remedy in the form of an order to any public authority to
perform a duty.
A) Mandamus B) Prohibition C) Quo-warrento D) Certiorari

PMKSY is an important government Scheme related to
A) Social Welfare Programme of Senior Citizens
B) Water Conservation Management
C) Literacy Programme
D) Women Empowerment Programme
-12-
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38.

39.

40.

Which of these statement(s) is/are correct ?
1) MGNREGA launched in 2005.

2) The primary objective of MGNREGA Scheme is to guarantee 100 days of
employment to rural households.

3) Wages of MGNREGA must be paid according to the statutory minimum wages
specified for agricultural labourers in the State under the Minimum Wages
Act, 1948.

A) Only (2) and (3) B) Only (1) C) All of the above D) Only (1) and (2)
What is the limit of time to get the information regarding the life and liberty of a person
under RTI ?

A) 30 days from time of request B) 15 days from time of request
C) 24 hours from time of request D) 48 hours from time of request

Which one of the statement(s) is/are true to plague ?
i) Itis caused by a pathogen called Yersinia pestis.
ii) It is transmitted through mosquito bites.
iii) Its vectors are fleas.
iv) Blood stream and lungs are infected.
A) Only (i and ii) B) Only (iii and iv)
C) All of the above (i, ii, iii and iv) D) Only (i, iii and iv)

Which one of the statement(s) is/are true to Aardram Mission in Kerala ?
i) It aims to upgrade existing PHCs to FHCs.
ii) It aims to provide Covid-19 vaccine to all people in Kerala State.
iii) It aims to provide training to the field staff on NCD and CD health issues and

management.
iv) It aims to develop facilities for fithess and yoga.
A) Only (i, iii and iv) B) Only (i, ii and iv)
C) Only (ii and iii) D) All of the above

Choose the right statement for Angiogenesis.

A) ltis the state of development of cancer cells in bone marrow.
B) The development of new blood vessels.

C) The term to define regeneration of hepatocytes in liver.

D) The process of secretion of growth hormone.

Which of the following statement is true to Vitamin A ?
A) Excess consumption of Vitamin A causes development of Microcystic anaemia
and Pernicious anaemia.
B) Pellagra and Depression are the two major symptoms related to hypovitaminosis A.
C) Deficiency of Vitamin A causes Night blindness and Xerophthalmia.
D) Hypervitaminosis A causes softening of the bones in children.
-14-
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45.

46.

47.

48.

49.

Which one of the statement(s) is/are true to the Pancreas ?
i) Pancreas is an exocrine and endocrine gland.
ii) Pancreas secretes both insulin and glucagon.

iii) It regulates glucose level.
iv) All of the above (i, ii and iii)

A) Only (i and iii) B) Only (ii and iii) C) Only (ii) D) Only (iv)
Choose the correct reason for life style diseases in human.

i) Bad food habits ii) Physical inactivity
iii) Disturbed biological clock iv) Wrong body posture

A) Only (ii and iii) B) Only (iandiii) C) Only (i, iiand iv) D) All of the above
Primary Amoebic Meningoencephalitis is caused by

A) Naegleria fowleri B) Amoeba proteus

C) Paramoeba perniciosa D) All of the above

Which of the following statements regarding isolation during COVID-19 is/are correct ?

i) Itis used for people suffering from COVID-19 symptoms or who have tested
positive for the virus.

i) In isolation means being separated from other people, mainly in a medical facility
where you can receive clinical care.
A) Only (i) B) Only (ii) C) Both (i and ii) D) Neither (i) nor (ii)
Name the phenomenon where electrons are emitted from a material when it is
exposed to light of sufficiently high frequency.
A) Photoelectric effect B) Compton effect C) Doppler effect D) Hall effect

The phenomenon that explains the separation of light into its constituent colors when
passing through a prism is

A) Reflection B) Refraction C) Dispersion D) Diffraction
Which of the following electromagnetic radiation has the longest wavelength ?

A) Infrared B) Ultraviolet C) X-rays D) Gamma rays
Which rocket is used in Aditya-L1 ?

A) PSLV-G51 B) PSLV-C51 C) PSLV-C57 D) PSLV-L57

Which statement(s) is/are correct regarding chemical bonding ?
I) lonic bond is formed between electropositive element and electronegative element.

II) Covalent bonding is formed between electronegative element and electronegative
element.

[II) Coordinate bond is formed between electropositive and electropositive element.
V) Metallic bonding is formed between electropositive and electropositive element.
A) | only B) Iand Il only C) I, Iland IV only D) All of the above

-16-
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Which one of the statement is not correct about Helium ?

A) Helium has lowest boiling point of any substance known.
B) Helium I is normal liquid and Helium Il is super liquid.

C) Helium forms liquid under high pressure.

D) On cooling Helium becomes liquid.

Which of the statements are correct regarding solubility ?
[) If the solute and solvents have similar chemical characteristics then the solubility
is high.
Il) Polar compounds are highly soluble in polar solvents.
) If the solute and solvent have dissimilar chemical properties then the solubility is low.
IV) Polar compounds are highly soluble in non-polar solvents.

A) land IV only B) Iand Il only C) I, lland lllonly D) All of the above
The Indian photojournalist who executed by Taliban ?
A) Farhat Basir Khan B) Victor George
C) Dar Yasin D) Danish Siddiqui
Find out correctly matched pairs from the following.
I) Koodiyattam — Mani Madhava Chakyar
[I) Mohiniyattam — Muzheekkal Pankajakshi
[ll) Kerala natanam — Guru Gopinath
A) land B) Il and llI C) land il D) I, Il and IlI

Find out the correctly matched pair of novels and corresponding major character
from the following.

I) Bheeman — Randamoozham [I) Mujeeb — Adujeevitham
[ll) Chethana — Aarachar V) Appu — Odayilninnu
A) Il and Il B) land lll C) I ITand 1l D) I, llland IV

Find out the pairs in which the original name of the writer correctly matches with
their pen name.

I) Nandanar — P.C. Ramachandran [I) Anand — K. Sachidanandhan
[lI) T. Ubaid — Abdul Rahman IV) Vilasini — M. K. Menon
A) landll B) I, lll and IV C) llland IV D) Il and IV

The names of different sports items and number of players are given.
Match the following :

a) Polo k) 9
b) Rugby ) 15
c) Volleyball m) 4
d) Baseball n) 6
A)a-mb-Il,c—n,d-k B) a—-Il,b-m,c—k,d—n
C)a-k,b—-n,c—-I,d—m D)a-n,b-k,c-1l,d-m
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Select the works of Brahmanandha Sivayogi from the following.

I) Mokshapradeepam II) Athmavidya
[ll) Athavidyalekhamala IV) Brahmasankeerthanam
A) landlll B) land I C) lland Il D) land IV

Find the correct pair of Nobel Laureates of 2023.

[) Physics Pierre Agostini, Ferenc Krausz, Anne L. Huillier

[I) Chemistry Carolyn R. Bertozzi, Morten Meldal, K. Barry Sharpless
[ll) Literature Jon Fosse
V) Physiology Svante Paabo

A) 1, Iland llI B) I, lland IV C) I, land IV D) I, I, llland IV
The names of 2024 Padma Awardees are given. Find out the wrong options.
[) Fathima Beevi [I) Mithun Chakraborthi
[Il) Sitaram Jindal V) Uma Shankar Pandey
A) landll B) 11l Only C) IV Only D) lll and IV

On which petition did the Supreme Court declared Section 66A of Information
Technology Act, 2000 as unconstitutional and struck it down on the grounds of
curtailment of freedom of speech and expression ?

A) Sharat Babu Digumarti vs Government of Delhi
B) Ekta Kapoor vs State of MP

C) Navtej Singh Johar vs Union of India

D) Shreya Singhal vs Union of India

Which of the following statement(s) is/are correct ?
i) A hub is a multiport repeater.
ii) Routers are expensive than bridges.
iii) Gateways operate only at data link layer.
A) Only (i and ii) B) Only (ii and iii)
C) Only (i and iii) D) All of the above (i, ii and iii)
In csv files, the character that separates values is known as the
A) Separator B) Delimiter C) Parameter D) Argument
The initiative of Kerala Police, in association with ISRA (Information Security Research

Association), to create awareness among students/teachers/parents on cybersecurity
and online safety is

A) Stay Safe Online B) WeProtect
C) KID Glove D) webwise
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64. Which of the following statement(s) is/are correct about 5G networks ?
i) It has ultra high latency.

ii) Peak network data speed up to 20 gigabits per second (Gbps).

ii

A

C

)
) It measures in millimetre wave (mm Wave) spectrum.

) Only (i and ii) B) Only (ii and iii)

) Only (i and iii) D) All of the above (i, ii and iii)

65. According to Right to Information Act, 2005, the definition given to the term
“third party” is

A) a citizen seeking information from a public office that is not directly related to the
information he or she is seeking.

B) a person other than the citizen making a request for information and includes a
public authority.

C) a person requesting personal information of another person or confidential
information of any entity.

D) None of the above

66. What is the meaning of ‘Juvenile’ under the Provisions of Juvenile Justice (Care and
Protection of Children) Act, 2015 ?

A) A child below the age of twenty one years

B) A child below the age of fourteen years

C) A child below the age of eighteen years for girls and twenty one years for boys
D) A child below the age of eighteen years

67. Which of the statement(s) is/are correct about the Maintenance and Welfare of
Parents and Senior Citizens Act, 2007 ?

i) Tribunal constituted under the Maintenance and Welfare of Parents and Senior
Citizens Act, 2007 shall be presided over by an officer not below the rank of
Munsiff-Magistrate.

i) Any senior citizen or a parent, as the case may be, aggrieved by an order of
Tribunal may, within sixty days from the date of the order, prefer an appeal
to the Appellate Tribunal.

iii) No parties to a proceeding before a Tribunal, constituted under the Act, shall
be represented by legal practitioners.

A) Only (ii and iii) B) Only (i and i)

C) All of the above (i, ii and iii) D) Only (i and iii)
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68. Which of the statement(s) is/are correct about the Kerala Lok Ayukta Act, 1999 ?

i) The Lok Ayukta has no jurisdiction under the Act to take any action on the
subject referred for inquiry under the Commission of Inquiry Act, 1952.

i) The Lok Ayukta is required to submit a consolidated report on the performance
of its activities to the Chief Secretary to Government every year.

i) The Chief Minister of Kerala will appoint a person known as the Lok Ayukta to
conduct investigations and inquiries in accordance with the provisions of the

Lok Ayukta Act.
A) Only (i and iii) B) Only (ii)
C) Only (i) D) All of the above (i, ii and iii)

69. Which of the following statement(s) is/are correct about Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013 ?

i) The Presiding Officer and Members of the Internal Complaints Committee shall
hold office for not exceeding three years from the date of their nominations.

ii) A Presiding Officer who shall be a woman employed at a senior level shall be
nominated by the concerned State Government.

iif) Any aggrieved woman may make a complaint of sexual harassment at workplace
to the Internal Complaints Committee within a period of one month from the date
of last incident.

A) Only (i) B) Only (iii)

C) Only (i and ii) D) All of the above (i, ii and iii)

70. Which of the following statement is correct regarding the Constitution (One Hundred
and Fifth Amendment) Act, 2021 ?

A) The Amendment relating to the structure, functions and powers of the National
Commission for Backward Classes.

B) The Amendment empowers the State Governments and the Union Territories to

prepare and maintain a list of socially and educationally backward sections for
their own purposes.

C) The Amendment extends the reservation of seats for SCs and STs in the Lok Sabha
and State Assemblies from 70 years to 80 years. In addition, reserved seats for the
Anglo-Indian community in the Lok Sabha and State Assemblies were removed.

D) In addition to the existing reservation, the Amendment proposes a maximum of
10 percent reservation in higher education institutions and initial recruitment in
government posts for the economically weaker sections.
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75.

76.

77.

78.

79.

80.

2 Q2

Value of 37 -3

A) 34 B) 36 C) 38 D) 40
4 16 ;

If 4ﬁ+ﬁ—[2—3—(1—2)]+x:0,what is the value of x ?

A) 2 B) 3 C) 4 D) 5

xis 125% of y. If x + y = 90, then the value of 2x —y is equal to

A) 40 B) 50 C) 60 D) 70

A salesman earns a profit of 25% after giving a discount of 25%. Find the ratio
between the marked price and the cost price.

A) 5:3 B) 2:1 C) 4:3 D) 3:2

Five people can cut 20 trees in 2 days. If twenty people work for 3 days, then how
many trees will be cut during this time ?

A) 60 B) 90 C) 120 D) 150

How many times the digit 2 appears in the first 52 whole numbers ?

A) 14 B) 15 C) 16 D) 17

In a certain code language EDUCATION is written as JHPFBNRDB. How will
MEDICINES be written in that code language ?

A) ZJHRXRBJM B) YJHRXRBJP

C) ZJHRXRBJL D) XJHRXRBJN

The product of 3 consecutive integers is always divisible by
A) 4 B) 6 C) 8 D) 10
A man walked 25 ft towards North, then took a right turn and walked 25 ft. He again

took a right turn and walked 50 ft. How far and in which direction is the man from
the starting point ?

A) 25 ft to the South-west B) 25+/2 ft to the South-west
C) 15 ft to the South-west D) 1542 ft to the South-east

The angle between the minute hand and hour hand of clock when time is 3:20 is

A) 20° B) 30° C) 40° D) 50°
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

41/24 - K

377 -3°

3 @300
34 P
A) 34 B) 36 C) 38 D) 40
4i+E—[2—3—(1—2)]+x:0 SNTT, X T TR, D ?
11 11 e S
A) 2 B) 3 C) 4 D) 5

X 2022080 yodd 125% SNT. X +y = 90 SNTT, 2X — y T BPY) QT FxRTNTZE
A) 40 B) 50 C) 60 D) 70

m%ﬁeqmasae 25% d%—-’% @o&mo&aéoﬁagbq QeRT ©9303T 25% mwwa‘% NPROTH. R B3
2B FRY VSO SRR BIOTDITY, FOTILRAD.
A) 5:3 B) 2:1 C)4:3 D) 3:2

20 IS0 2 HINFE, 20 FORTaR, TFOIWED. BB WA 3 HFNY 590 30T RNAET, s
FBODTE, ), BOTAYRY FZORTANIT 2
A) 60 B) 90 C) 120 D) 150

BRT 52 TYear B0 NTY, 08 2 R, WD TEIREHWED ?
A) 14 B) 15 C) 16 D) 17

20T QOFH, Rogeg om0 EDUCATION 200053) JHPFBNRDB 20w WTODING.
3 3058 R03DY, MEDICINES 20208350, 3¢t w3030wmOnmd ?

A) ZJHRXRBJM B) YJHRXRBJP

C) ZJHRXRBJL D) XJHRXRBJN

3 133 PPTor 03NS rbsam%dal C3ITONELR BTIO0T LONDLIOTO
A) 4 B) 6 C) 8 D) 10

%) waé QUBTT 3R 25 9B BT, WT0TT u@éﬁ &ToN 25 & IBET. BT @0 we)@s
&T0N 50 98 IBTI. STOPD x@@&sod & T8 AR, TWRT [0BY 035D @%{3@@2@3@5 ?

A) 25 w@ Fa8 3 B) 2512 wa e

C) 15 =& %aﬁoé?sés D) 152 @& esrieodoéé

R3003 3 1 20 9TV MERSINTT QEORTI 00 3089 o303 Y0, FRONT FRCI
SN,
A) 20° B) 30° C) 40° D) 50°
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82.

83.

84.

85.

86.

87.

88.

89.

90.

Fill in the blank using correct tense form of the verb given in bracket.
I (stay) here till Sunday.

A) will stay B) will have stayed
C) will be staying D) stay

Choose the right option that suggests change in voice of the sentence.

Please draw the figure.

A) You are instructed to draw the figure. B) You are requested to draw the figure.
C) You are ordered to draw the figure. D) You are implored to draw the figure.
Fill in the blank using suitable preposition.

I walk ten miles without getting tired.

A) must B) should C) can D) will

Complete the following sentence using appropriate question tag.

It is not raining,

A) isit? B) isn’tit? C) willit? D) wontit ?
Combine the two sentences using suitable correlative conjunction.

It is not useful. It is not ornamental.

A) not only...but also B) both...and C) neither...nor D) either...or

Choose the synonym of the word italicised in the sentence from the given options.
He was killed in the battlefield.

A) Confiscate B) Slain C) Outnumbered D) Defeated
Fill in the blank using appropriate gerund form of the word given in bracket.

Do you mind (share) some pictures of your trip on Facebook ?

A) to share B) sharing C) being shared D) to sharing

Substitute the words underlined with a suitable phrasal verb.
The Director summoned me and asked for an explanation.

A) send down B) send for C) sendin D) send on
Fill in the blank using suitable preposition.

He felt no qualms borrowing money from his friends.

A) to B) about

C) for D) no preposition needed

Give the correct spelling of the adjective that means careful or taking great care.
A) Conscientious B) Conscintious

C) Conscientius D) Concientious
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Space for Rough Work
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Space for Rough Work

-31-



41/24 - K

82196l (@AM
@2106 Jnl ) @OBHDBHIW
@103 )6IB8810S @6 ag)emo : 100 mawo : 90 almlg’
aloaoauiwl @od#esy : 100

983N 566188 MIdEGU6MBUD

1. 62108y @sOQ M@EIM® €108y aljes ogalowilene. A, B, C, D agl moel @oemo e@owids)
LIIBE 210G al}(RHETBSIEM M@} MN@.

2. 62108) a RO DIB-EITD ST QLKD) (A IBM YB> GEOSOTIMD 6210 Y0 1TPB> @MU GBI @02 Slofigiens.

3. 80600 9633 NIdMMENI0 NBEIVISISE G106 Ja1i(YE> BUBHUD GHIWU BOAU0YOS aldle:1d a0ogleal @l
SO oalee]siOTlRlclenio.

4. demRdeomialdlafldleniom @oeo 8eoul@ Mo QlimIRAOD BEOMULIRES 610G jal3(REM6M’
eIElBOMO®mEIT @@ ©SMS] HMANElErIgOies YBERLYITINA|SICEMENE®OET).

5. €210B8Ja 3y (BHOMMUD aljo 2ISWIOS QURIMICIEDH MISSROMOIQS G2 IB®BTISYENE. (EBAMMUD sROmD
32103 §0 13BN (FlEIBRHE) RIElHHIMOMEITD @M @OBHD GEOUNLIEE G106 0 130 MOl QLIOETBLE:.

6. 62108y alyeo Qlei®) 00dElM@ acLIBONEDOW M@ ©21QICElenio. HODVODLIMOMIS @OMIAG
2IE240RIRI0O® B210BY ali(Pdho MIOEHIM aloslg).

7. a1dles mseoEloesad 963 nodmd ailes eidlafldenim 62106y alime:eaiad 100 ealos el :amowl
8BS0 o) al@lEUOUIBLHENB®OIEN. 2I0BY aly(RHHOTIT @0.SIEOHOMDE®O, HIGIE®I, ANlgiealoWE®O
@OW GalER)d(d HEMBOMIL); @ONAID HOENBHIT @OHHINJ OMANEERIQOeS YBHRLAITD OW06NBLNIBE:W 0
@OE® BOHHO BHHOWIRNSR aliBEMMOW @2103Y aliRdo MGl QOEIBIMLWI0 6).218QYENSMOEM. OB a@RA Yo
(IWOMOQS®I6N).

8. emveaB)ealg]dlea 1 mymm 80 cuenwigs 82106yemBud snogflatilalo s:mswfienmowi @eayslafldeniam. 0o
@210B)6IB8)6'S @odMO0, mdLERM ag)Milal MuosnIaUsle) MRS hogflar@Ow JOMTe)8Es 82106 JETBEO6N
@R WORRIL M.

9. 82108} alyRBOTOR @OAINVOM Baledlny OMOZYMIMal BMMIo ag)PIMOT VNS Galgydid EoIBEBIgYENE.
D OO0 H6N8RISIEOIMBIMIBE  B3Cla B BEOIRI HalEWIWIBHIIIN®OIEN).

10. 9omEaBW BRAIOQ|S}EMOM @Rl MM mymi’ demaesnsaomilan anial}0emies MdEguaBLD
YBRLOAIIDQo U0V BB

1. ndwiemeo pBeqles eoerd ealoayemimioe (A), (B), (C), (D) agm moel semosmsd emidleo. wd
WIOBDO0 HOOREDSYOD 63. ag)o. @D, HODOLOSLIOMI@ NIMLERS E2I0BY MMUGITN BNMEOOWIRE LClQIETOC
mgollolenyam oxyalg (sruenliid) mo@o MRIBRO ©:038a 0 61O Galo@M} Galm ©aleoudlal @0 fleed:.

12. 89600 ndwEmeEmiimie B0} 20des rIElenB® o B8M amQIEmEETImye 1/3 @des Maymond:wo
6.21@Q))0. HOMOO BOEUAG|SIOMOMM G213 YIRS MBS MaUMIN)BQg).

13. aidleuo mawo e-¥eymaia’ miemio, semaseaseom’ emaleflealigac og@a lnoamewo 8oy HEBRNBdM]
@Yo al@leH0a00td Qllg aljO@mYBAIIBM aldslg).

14. adeguemd &d30wmacwl aloeleenenzmoem. aldleda ©08HHNS MSEMGEWO @EIMISs Yymo
MSEMYSEWO 6.219)30M HEBYONIdMA]H:608 @REWIN YOV (al6uyoallenimmosm.

A -30-



